
Yesterday → /do¥P# "scalar product" "inner product"

UT
= L u i , --e, U n )

✓= ( 4 , . . . , u n ,

Not = H i l l t a l k t - - - + u n ,

vi.f =
11011.11011 cosOH

↳ vi.0=0 then I t v

Metatins question: i t , J i f f how do w e
find

a ut s t WIT, W I T ?



Red I = L l , o , o )µ
/

Cain) =aTtbftck_
I = 20, I , 0 7

I = L o , O, 1 )

Right-hand rule:

n i ,

f-E
'



Motivatiy Example: find a Vector D tut's pop. to both

I and IanIsatisfesRHR@ti.s',
uh

⇒ "Natural" solh i s i t = I I

what w e j us t saw i s t h t

Tx j = k
a

c r o s s product of t w o vectors.



Deff the cross product of t w o 3 -D vectors

i t , f i s a vector i t = dx f s t

w b u , W I V and satisfies the Equation

that = 1hill housing,
finding i t i s

hard!

A obeys RHR and i s a unit vector.



Deffl (Algebraic definition)
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② : parallelepiped → 3D parallelogram.
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③ triangle fan vectors
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Properties of Cross product:
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